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-./.0. 12 313 45 6789 :5;<8=5;>
45 6?=;9<@ A>8B

m1 m2

CD CC CE CD
m1 = 12

���
13 < m2 < 17

��'
185.935 < ω < 187.577
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m1 m2

JK JL CM
m1 = 4

���
7 < m2 < 13.5

��'
103.686 < ω < 109.349
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m1 m2

JJ CC CJ CC
m1 = 12

���
6 < m2 < 10.5

��'
310.652 < ω < 348.459
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m1 m2

CM MJ
m1 = 6

���
13 < m2 < 21

��'
226.441 < ω < 226.589
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m1 m2

C[ KM CM
m1 = 6

���
11 < m2 < 16

��'
109.112 < ω < 110.476
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m1 m2

CL C[ C` CD
m1 = 6

���
10 < m2 < 13.5
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278.153 < ω < 279.069
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m1 m2

[C eJ CD
m1 = 9
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8 < m2 < 14.5
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413.383 < ω < 418.096
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m1 = 4
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10 < m2 < 15
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290.783 < ω < 291.176
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m1 = 10
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13 < m2 < 20

��'
517.311 < ω < 518.289
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m1 = 9
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5 < m2 < 9.5
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246.194 < ω < 249.516
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274.373 < ω < 311.280
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696.702 < ω < 702.995

-./.0. 12 31N 3 dmhPA> ^6I 69
G 698=A>8B

m1 m2

CE K` JC
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6 < m2 < 10.5
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223.126 < ω < 239.548
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m1 = 5
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6 < m2 < 9.5
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269.348 < ω < 279.203
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m1 m2
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m1 = 4
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99.640 < ω < 100.455
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m1 = 10
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5 < m2 < 9.5

��'
224.774 < ω < 227.923
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4 < m2 < 11.5
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290.589 < ω < 296.025
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194.200 < ω < 195.188
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5 < m2 < 8.5
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233.194 < ω < 233.506
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��'
131.184 < ω < 131.850
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9 < m2 < 15.5

��'
315.844 < ω < 317.282
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